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Q 1 is compulsory. Attempt any three questions from the remauungqueatmns. S

S

Q.1 Answer any five briefly. Each question carries 04 marks. T
a Define Surveying. Classify surveying on the basis of the purpose of the su“rvey ¥ N
b Differentiate between Whole circle bearing (WCB)and | ‘Reduced bearing system‘.' Nis

: ; (_z'o)ul

e

the WCB, what would be the reduced bearing in all ,four gha‘drams'? ;
Define: i) Chainage .ii) Backsight. iii) Intermedlate sight:: w) Change ol
Define contcmr and contour interval. State any four charactenstics of co . :

L T < T = YR -}

Q.2 20
2 | was conducted round a lake and the =i
bearings as shown aside were CD DA
obtained. Determine which of the e S
stations are affected by local 107920 | 224950° | 306°40°
attraction and give the values of the S e
3RE020° 05 G
corrected bearings. § 286 ¢ gl PNt e U 100
b Compare: Surveyors Com_ ; Pr 04
A road embankment 30 a1 wideat tup with side slope of 2 to 1 have ground levels at 100 08
metres interval along,, line PQ as under P(153.0),151.8,151.2,150.6,(149.2)Q.The
Q3 (20)
o 10
L @B LS F.S | Rise | Fall RL Remarks
N 2,150 450.000 BM
L 2W | 1645 210500 7
8 - 2.345. ? T
4 ? ; 1.965 ? ?
5 2.050 1.825 0.400 ?
6 _ ? ? 451.730
7 (-)1.690 2 0.120 ? Inverted staff rdg
8 ? 2.100 2 2
9 ? ? 499.100
Explain reciprocal levelling with its procedure and purpose. 05
Write a note on different axes of a theodolite and their interrelationships for the 05

instrument to be in perfect adjustment.(Sketch is desirable.)
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Q4
a
plane table survey with its advantage.
b Write short notes on :
i,  Gale’s traverse table.
ii. = Measurement of horizontal angle by method of Repetumn j :
¢ A 20 m chain was found to be 4 cm too long after chaining 1420 m.It wasﬁ cousteo tong
the end of day’s work after chaining a total distance of 2400 m. If thc cha@vw [
before commencement of the work, find the true distance
Q5 -
a : .
Calculate latitudes and departures _ L;rg T
for the traverse whose details are : : Y ?2;;0'5, |
as shown aside: 2 o5y
| 228%43° |
fot 300"42‘ |
b The above perpendicular offsets were take ervals fmm a survey line AB to an
Distance | O (pt.A) | 15| 30 {545 75 | 90 ] 105 | 120 (pt. B)
Offset 2230 3.80 | 4. si»' 7.30[895[825] 5.50
irregular boundary line. Calculate :
c
Q.6 s, SR
a ly at a distance of 46.2 m and 117.6 m from the centre of

hairs and the staff _interccpts with the telescope horizontal
espectwely The mstrumcnt was then set over a statron P having

¢ l e method exercise, pOlIItb i and Q are two instrument stations and point R is the
‘m poi whose elevation is to be known. The values of included angles ©p & Oq are 64°30°

58°15’ reSpectweI) The values of vertical angle Olp & Olq are 20°43°20” & 19°44°557

5 rcspectwely The height of instrument at P and Q are 1.450 and 1.550 m respectively while
" “the backsights taken on benchmark (RL = 100.125 m) from P & Q are 1.625 and 1.125m
~respectively. Distance PQ is 180 m. Determine the ground elevations of both the instrument

'station and elevation of point R.
Explain tie line, check line, base line and main survey line with neat sketch.
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